¢ PRECISION INSTRUMENTS FOR TEST AND MEASUREMENT ¢

DP1211 /1311
DEKAPOT®

Decade Potentiometer

User and Service Manual
. /

Copyright © March, 2008 IET Labs, Inc.

DP1211/1311im/March,2008
0

I ET LABS, | Nc 534 Main Street, Westbury, NY 11590 www.ietlabs.com
IET formerly manufacturer by TEL: (516) 334-5959 - (800) 899-8438 + FAX: (516) 334-5988

esi/Tegam



4 PRECISION INSTRUMENTS FOR TEST AND MEASUREMENT 4

534 Main Street, Westbury, NY 11590 TEL: (516) 334-5959 + (800) 899-8438 + FAX: (516) 334-5988

iET IET LABS, INC. S —



WARRANTY

We warrant that this product is free from defects in material and workmanship and, when properly used, will
perform in accordance with applicable IET specifications. If within one year after original shipment, it is found
not to meet this standard, it will be repaired or, at the option of IET, replaced at no charge when returned to IET.
Changes in this product not approved by IET or application of voltages or currents greater than those allowed by
the specifications shall void this warranty. IET shall not be liable for any indirect, special, or consequential
damages, even if notice has been given to the possibility of such damages.

THIS WARRANTY IS IN LIEU OF ALL OTHER WARRANTIES, EXPRESSED OR IMPLIED, INCLUD-
ING BUT NOT LIMITED TO, ANY IMPLIED WARRANTY OF MERCHANTIBILITY OR FITNESS FOR
ANY PARTICULAR PURPOSE.


cert3user
iii


A\ WARNING A\

OBSERVE ALL SAFETY RULES
WHEN WORKING WITH HIGH VOLTAGES OR LINE VOLTAGES.

Dangerous voltages may be present inside this instrument. Do not open the case
Refer servicing to qulified personnel

HIGH VOLTAGES MAY BE PRESENT AT THE TERMINALS OF THIS INSTRUMENT

WHENEVER HAZARDOUS VOLTAGES (> 45 V) ARE USED, TAKE ALL MEASURES TO
AVOID ACCIDENTAL CONTACT WITH ANY LIVE COMPONENTS.

USE MAXIMUM INSULATION AND MINIMIZE THE USE OF BARE
CONDUCTORS WHEN USING THIS INSTRUMENT.

Use extreme caution when working with bare conductors or bus bars.

WHEN WORKING WITH HIGH VOLTAGES, POST WARNING SIGNS AND
KEEP UNREQUIRED PERSONNEL SAFELY AWAY.

A cautioN A\

DO NOT APPLY ANY VOLTAGES OR CURRENTS TO THE TERMINALS OF THIS
INSTRUMENT IN EXCESS OF THE MAXIMUM LIMITS INDICATED ON
THE FRONT PANEL OR THE OPERATING GUIDE LABEL.


cert3user
vii


DP1211

DEKAPOT® Decade potentiometer

Description

DEKAPOT Potentiometers are coaxial - dial Kelvin
- Varley voltage dividers. Model DP 1211 has two
decade dials and an interpolating potentiometer; Model
DP 1311 has three decade dials and an interpolating
potentiometer.

Other models may differ in number of dials, physical
length, or other details of specifications. Information
in this sheet, except for these details, is applicable to
all coaxial DEKAPOT potentiometers.

Specifications

Terminal Linearity*

Long-Term: £20 ppm + 0.5 dial division.
Coefficients of Linearity

Temperature: + 2 ppm/°C,

Power: % 30 ppm/W for 1 kQ

+ 10 ppm/W for 10 kQ

Calibration Conditions:

23°C, low input power.
Input Resistance:

1, 10 kQ (accuracy +0.01%).
Maximum Input Power:

5 W continuous, 10 W intermittent.
Breakdown Voltage:

750 Vrms to case.
Number of Decades:

DP 1211: Two, plus 100 -division slidewire

DP 1311: Three, plus 100- division slidewire.
Resolution:

DP 1211:0.003%

DP 1311: 0.0003%

Physical:
. Behind .
Model Diameter Depth Depth Panel Weight
DP 1211: 3in. 7.20n. 5.9in. 1.7 b
(7.6cm) |[(18.3cm) (15cm) (800 g)
DP 1311: 3in. 8.5in. 6.9.in. 211b
(7.6 cm) (24 cm) (17.5cm) (1 kg)

*Mid -scale rating, Improves near end-scale settings.

Before you reject this unit

This is not a calibrated resistor. It is a voltage divider.
It has an equivalent circuit which includes a variable
resistor in series with the output lead. This does not
impair its accuracy as a voltage divider but makes it
difficult to find its linearity by resistance measure-

ments.
VARIES WITH SETTING
k - &

Test Procedure

1 . Connect circuit as shown.

Models 801 and 803 provide ideal generator-detector
combinations for this circuit. The generator can be
set so that deviation con be read as meter deflection.
Model RV 622A DEKAVIDER® voltage divider
makes an excellent standard.

2. Use double connection to terminals of
unknown divider.

The lead resistance between dividers can cause er-
Iors.

3. Isolate dc supply from detector.
Leakage to the detector can cause serious errors.

4. Open generator switch while making a
setting charge.

This prevents lost time while waiting for on overloaded
meter to recover.

5. Use 10 volts or less for checking 100- ohm
units.

Do not exceed the power rating IET Labs dividers
are most accurate when dissipating less than 1 watt.

100k
€30V for 10kN 10
oV for 10041 UND'IKPTOWN STANDARD
£1 ot IVIDER DIVIDER
—a-

10 milliohms in either of
these leads will cause
up to lppm error

e

i

1

‘I >100k L {No. 14 copper wirs hos

= : s INPUT R obout 2.5 milliohms per

lsumvl i I ] ool

i oy

H < PER ppm  [e—=

|

|

10- gigohm leckage re-
I sistancs from generotor
fo detector will cause
up to tppm error

for
30V INPUT

L]




DP1211

6. Calibrate meter deflection.
Balance the dividers, then offset the standard divider

INNER DIAL
AND INDEX

by desired amount. Adjust the dc supply for the de- W ASSEMBLY
sired meter deflection. @ f

7. Set both dividers to same value.

Read the linearity deviation on the calibrated meter.

Mounting Instructions

REMOVE DIALS FROM CONTROL SHAFT Mounting Panel
1. Important: Set all dials to zero before
disassembling.
2. Loosen 2 index-mounting screws . ‘O’ Ring Seals

3. Turn inner dial to approximately 30 and
loosen setscrew near number 50.

4. Turn inner dial to Wand loosen setscrew
near number 80

5. Liftinner dial and index assembly straight

off of shaft.

Loosen setscrew on each of the other dials.

7. Lift each dial straight off of shaft. On

hermetically sealed units, remove all '0'

rings.

Remove 7/16 in. hexagonal nut.

9. Remove 8-32 screw and remove dial index
support.

For Hermetically
Sealed Units

o

*®

MOUNT THROUGH PANEL

10. Drill or punch panel mounting holes either
for bushing mount or four -screw mount.
See pane I mounting hole diagram.

11 . Remove spacer discs, if necessary, to
obtain effective panel thickness between 1/
4 in. and 3/16 in. Each spacer is approxi-
mately 1/16 in. thick.

12. Insert DEKAPOT shaft and bushing
through mounting hole.

13. Place index support and 7/16 in, nut over Mounting Holes
bushing and tighten finger-tight.

14. Rotate index support over hole below and

188 Dia

to right of bushing. ; {4 HOLES
15. Fasten index support to DEKAPOT :s P P
through panel with 8-32 screw. f@i ey

@ 438 Dia

| B76 DIA



16.

17.

If four-screw mounting is used, insert and
tighten three additional 8-32 mounting
screws (may be already mounted) in
appropriate holes.

Tighten 7/16 in. nut.

REASSEMBLE
18. Place the dials on the shaft. On hermeti-

19.

20.

21.

22.

23.

cally sealed units install '0' ring under each
dial except the largest. Position the
numbers so that 0 is at 9 o'clock

dial index support should be between
numbers 4 and 5. Do not tighten dials.
Place the inner dial and index assembly on
the shaft with 00 lined up with index mark.
Line all dials up with index, being careful
not to turn shafts under dials. If any dial
turns the shaft, it will move a switch to a
detented position. If this happens, turn the
dial back to reset the switch, and try to slip
it carefully to the proper position . If any
dial is not lined up and will not slip easily on
the shaft, remove the dials and try again to
line them up as they are reassembled.

Pull outer dial slightly away from panel to
avoid friction with bushing. Spread other
dials apart evenly. On hermetically sealed
units (before tightening setscrews), press
dial so there is slight compression of '0' ring
seals. Tighten setscrews, being careful not
to turn the dials. On the inner dial tighten
only the setscrew near 8 (or 80).

Turn each dial except the outer dial through
a complete revolution in order to check for
zero. The outer dial should be blocked and
not able to turn between 9 and 0. Interme-
diate dial (or dials) should have no detents
between 9 and 0. Inner dial should feel
slightly rough when turned through the
numbered positions and should feel smooth
in the blank area between 00 and the black
triangle . There should be a slight detent at
00 on the inner dial .

Tighten setscrew near 50 on inner dial.

DP1211

ouT

n,?-—o
/7';0

GRD








